Read the problems and solve

There are 241 roses and 146 sunflower in basket. How
many flowers are there in basket ?

H T O
Number of roses
Number of sunflower —_— 4
Total number of flower in basket _— -

There are 67 apples and 216 oranges in a fruit shops. How
many fruits are there in all ?

H T O
Number of apples N
Number of oranges —_— +
Total number of fruits in fruit shop N

There were 23 cars and 87 motorcycles in a parking lot. How

vehicles are there in parking lot ?
H T O

Number of cars - -

Number of motorcycles s I

Total number of vehicles in parking lot

A school has 345 girls and 225 boys. Find the total number

of students in school.
H T O

Number of girls — -

Number of boys o

Total number of students R




